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This question paper contains two sections. In Section I there are 1 to 25 questions of First Language and
in Section II there are 26 to 75 questions of Mathematics. All 75 questions are compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record you answer as follows :

Question No. 6 0] ISIO)

Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.

Example : (1) @ @ &

While recording the correct option in the answer sheet, use only black or blue ball pen. Otherwise it
will be credited as ‘Zero’ mark.

Answer once recorded cannot be changed.

Maximum 20% questions are having two correct alternatives. Candidate hs to darken both the circles with
correct answers. These questions will have the instruction ‘Select two correct alternatives.’

Any kind of answers recorded in more than one circle will not be considered except for those
questions having instruction ‘Select two correct alternatives.’

The rough work is to be done in the box given under each page or on the last page of the question paper.
The exam has limited time, in case you are not able to solve a question, kindly solve the next question. In
the end if time permits you can try to solve the unsolved questions.

If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

Questions can be cancelled due to printing mistake or any other reason, on the basis of the
suggestions given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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faumT I
gy HTHT

9 1 § 3 o o gor : Freataiaa Ter-uiess st sarudeh Ugent U T U5t o Shad uaig s
ShHTeh SId1SU
TH A Y= HERTSE s A foIT 7T 9 | 59 T o STRelfRe AR faeimer™ o i Teamashi
AR 2 yeAtyeret W o | <F T 9 39 erafy H g9 Y=, HRleiaR, JATTe, SYe, HeTS,
TR, UMt Feoeqor, TTerTs, Shicelqe TS Sei-ie T SR quT aTad 31T |

RT3 ATk ek GekdT, U=l o 3ocl g, WAToTg a9 T=elehTg S Ufdeifaes g S@et
T STEfadR & 337 | SEw § fregfy A @ e 350 96 U FeEe HER
33T | HETE & FASR RIS I <@ & TRadH ol Sfierd Fsiia 21 331 | TUddigel sl 9rh-gol 9qg,
Ry el ST TR 83d TE=Td1 ¥ M 331 | STa gl foh Wapfd TH WO ol STUHT <l IO
AR

1. &9 RO & fog st e 9 ?
(1) iR (2) HEEHR
(3) Ufv=H HERIee (4) JATHTE

2. Wipmfewrar?

(1) IR fE (2) Tafa
(3) 350 f& (4) wma fea
Space for Rough Work
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3. O o AreAw W Uehf g6 feRE STURT aht UROUTT et & 2
(1) s (2) fo=gfe
(3) wen (4) g

U9 4 W 6 o forq g : Frefefiaa swfadr ot dferde st samgees ugeRt e fEu 710 wsi o ST
AR :

T AT Te1 ToRell |, IR | | R S,
TH 1 T e &, ST off R ST S |
ferrd e aret o, faerdt weg wa A &,
Al %) e &, e & e

TR T ¢ STieH, Tel THeER T,
S ot Thetan, g1 ST, GRi-ERi g1 o o |
STal deh 1T SHaR, $oh fa Tarehl ST S,
T T 3T & €, T oFt R ST o

4. 7o TR & ST =len ?

(1) werer & (2) SHTERY
(3) =R (4) THE
5. Siee o g fera@ T7 X weRa € 2
(1) kel & (2) HhAl ©
(3) TG I (4) JFI W
Space for Rough Work
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6. T form wE ST =Ttey ?
(1) TR ST =nfen (2) TR ST =TfET
(3) TMER ST =fEe (4) =R ST =IfEn
7. ‘3it@’ 9Te% AT WHTIE VIR ¥ :
(1) = (2) &
(3) 7= (4) forean
8. e for@ T ol § et foha W™ ¥ ?
(1) =% (2) ¥
(3) =1 (4) =
9. e faw T 3t VISR ok fo Sfaa wata st shmies T
& S ¥ faamm @
(1) Famigs® (2) smiE=
(3) e (4) TR
10. = feu 7T <irge & Uit o SEA 99 9T HEdd o SHeRT Wet 31et A aret udia @
AR T ¢
||| |w T
(1) e ¥ 9gd sl (2) dRgm sifies @y &1
(3) fafera & s (4) IO G =y
Space for Rough Work
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11. =i fEu g arern § | 7qut aduTeRer’ T el UgToRt Hel Udid oh & shHich g ¢
(1) T forehe T @WIE |
(2) ST H YT THF @R |
(3) Gfar 3 AT IHLE |
(4) A AT 3T A |
12. i fEu T wiee & Uit 9 SEH 9 9Tl WETaR SRl 9@ U S 9Tl huieh g ¢
g | G| w|em|
(1) TR a=m (2) oT9 e fag &
(3) Tt BT T T (4) T AR Hhe
13. i fau e are ® stemifad vTsal o e steiehiien 9162 ot Sfurd vartar =t shieh 9T ¢
eI JAT Tl o 3T ST § |
(1) STFH A (2) ST
(3) == (4) ot
14. & T Al ¥ W& SISt o TATT Rl shHieh YT : (I TIiEr SO UgenNY)
(1) Tt — Tanfat (2) T - =9
(3) && - =edt (4) dret - Gifed
15. e fIu 7O oTeRl § | ST ST IT63 hl UgATTeRT Stad Uaia ol shieh ofIg :
(1) & (2) o=
(3) =+ (4) =&
Space for Rough Work
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16. e fEu 7T ‘TR i’ i Ia STel IIEAT R Stad udid ik 9T ¢ (= uEtE 36T
RECURLY)
(1) forme (2) 3
(3) w=mi (4) fereneft
17. ‘77 el Tad € 27 SToRT SR YehR UgaTeRt Stard Uaie ahl shHich T ?
(1) fAserees (2) sraed
(3) fasmds (4) wsTedw
18. = fu Tu oreRl W W ‘ sttt v1e]’ wgETeRt e uata i sk 9
(1) &R (2) #ensg
(3) #rer (4) T
19. = fou o ored W W ' SafeareeR WA o I16% Sl UEHTIeR SHeRT Sfud uata shuiek T
(1) 5% (2) fema
(3) ¥ (4) THE
20. i fau e gt © @ emdama aure’ o 91ss o sfea uaie st g
(1) B (2) safasm
(3) TR (4) feta
Space for Rough Work
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21. i fau e arer ® wge | farmatag @t veeent sfea wata g
T A ST § et S T o |
(1) sTeqfer™ (2) srdform fog
(3) ifor fog (4) st fog
22. ¥ § T UfeR ol UEETTRT W@l TR ST UAT ShHISh T
T TN qe THA TEeR g BT |
(1) IHE ST (2) =T SRR
(3) ¥ SRR (4) I ST
23. i fou T 9reRl o T get vTeg i W o Sfera uaiter wht iR T ¢
HT&eTehTT @
(1) wifec + & (2) wfefere + aR
(3) wifeed + FR (4) 91 + fecshr
24. 2 fRu g wnfeaml & g § e’ anfecrer i ugae 3faa wata g
(1) | e < (2) §d g™
(3) = feaeear (4) H goAEITH
25. et fiu g R F st Afeer varEs @ A vt
(1) wdt gfawn wfea (2) gt ArTerdt
(3) itmeft gfea Tt (4) et GO T
Space for Rough Work
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Section 11

Mathematics

26. <1 3Rl hl AW TS TS WEAT I < ekl hil BT W BT WS TN

27.

28.

& ATRA W ferd T AT i STIST STl YT TS 32 <Rt ot BT 2
(1) 2 2) 3
(3) 4 4) 6

TfE B AT @it ol g Tt Tar ufaesiad il & af sFare TehiaT
TRHITT Tt TheT SITEET oAl WITA ShITT oht ghel SIS | SIUT TehaT 2T 2

(1) 1:2 (2) 2:3
(3) 3:2 4) 2:5

28 YT STHATS 31 3T o WYUT YShet T, 14 TUT Brsamaret 3 ma
% qEHAT | U fema g 2

(1) 2:1 (2) 4:3
(3) 34 4) 1:2
Space for Rough Work
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26.

27.

Section 11

Mathematics

Whose perfect square should be added to the sum of the greatest three digit prime
number and the smallest two digit prime number so that the resultant number is
perfect square of 32.

(1) 2 (2) 3

(3) 4 (4) 6

If a transversal intersects two parallel lines then find the ratio of the number of pairs

of alternate angles to the number of pairs of corresponding angles so formed

(1) 1:2 (2) 2:3
(3) 3:2 (4) 2:5
28. Find the ratio of the total surface area of the hemisphere with diameter 28 cm to
surface area of a sphere having radius 14 cm.
(1) 2:1 (2) 4:3
(3) 3:4 4) 1:2
Space for Rough Work
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29.

30.

31.

32.

A = et | 3 96 YU Weh 9 729000 €. W G | € oI W 31auTd
(T ) I T 10 TITTA. & aF, AT 3 98 97 foraw § @< o1 ?

(1) 900000 %. (2) 1000000 %.

(3) 800000 %. (4) 1200000 %.
TEUR (2 + 1) (* — 1) o TUTIRET SRl O fehaT BT 2
(11 2) 3

(3) 5 (4) 6

feret T & SHeh TUTIaTeh YT ok T[Tt SRl TRTTeeR Widetd shie-dt
e B ?

() 1 (2) -1

(3) 0 4) -2

feReft hroT %1 HTT TER HOT HIUT 3/ WG BT 4 T & | A IW B0
ShIfEUTeh ShIUT ST WY feRa=T BRTT 2

(1) 36° (2) 45°
(3) 54° (4) 60°
Space for Rough Work
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29.

30.

31.

32.

Sunil bought a 3 year old machine from Anil at a price of Rs. 7,29,000. Its value
decreases by 10 p.c.p.a. What was the price of the machine when Anil bought it ?

(1) Rs. 9,00,000 (2) Rs. 10,00,000

(3) Rs. 8,00,000 (4) Rs. 12,00,000

Write the degree of the product of the binomials. (2x* + 1) (x* —1)

(1) 1 2) 3

(3) 5 (4) 6

Find the additive inverse of the product of a number and its multiplicative inverse.
(1) 1 (2) -1

(3) 0 (4 -2

1
The measure of a given angle is 1 times that of its supplementary angle. Find the

measure of its complementary angle.

(1) 36° (2) 45°
(3) 540 (4) 60°
Space for Rough Work
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33.

34.

3s.

36.

AT X FSTam A 2000 ©. o6 Sem | 74T foRT, a9 & A1 1000 ©. T 200 ©. 6
off sTaT feRu 1 At SER et 16000 %. Sk W wTUT feRU A SEeR gRT ST feRw T
M F T T fehert Bl 2

(1) 5 2) 15

(3) 18 4) 21

8 WILWA. T T W 48000 T T 1 o1 1 wIghffeg, ST feherem 2rm 2

(1) 4475 F. (2) 4265 F.
(3) 4274 %. (4) 5914 %,
X+ x— 72 1 UHEE M O A RA-A E ?
(1) (x—8) (x +9) (2) (x+9) (x +8)

() x=8)(x-9) (4) (x=9) (x+8)

L2 12 g gt weemeit ¥ @ ged 9t 9 Tew Bet uiiy dEnsit

1572075725

T 3ia¥ fepaem 3 ?
(1) = @ =
O @ 3

Space for Rough Work
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33.

The number of notes of Rs. 2000 deposited in the bank by Amir is equal to the total
number of notes of Rs. 1000 and Rs. 200 deposited in the bank. The total amount
deposited in the bank was Rs. 16000. Find the total number of notes deposited in the

bank.

() s
3) 18

2) 15
(4) 21

1

34. Find the compound interest for Rs. 48,000 for 15 years at the rate of 8 p.c.p.a.
(1) Rs. 4475 (2) Rs. 4265
(3) Rs. 4274 (4) Rs. 5914
35. Which of the following are the factors of the polynomial x> + x — 72.
(1) &= (x+9) (2) x+9)(x+8)
) x-8) (x-9) (4) x=9) (x+28)
36. Find the difference between the greatest and the smallest rational numbers given
below.
7121
157 20" 5" 25
1 2 2 el
™ @) 7
4 10 o 2
3) 3 @ 3
Space for Rough Work
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37. O W Afg 2 SSTahT 15 THee & W& & 4, S0k fi+e ud U ol 93dl o o
feRa=r 79T AT SRIOT ST 2
(1) 30° @) 2L
3) 82%0 4) 52%0
38. 452 HeT ol & 322 HieT TS Ueh ATIATRI T o TS 3T A HEahT 11 Wi
<TST Ueh TRAT SIHTET T | 4 S® T oAl hel Toha aiHteT & 2
(1) 4972 (2) 3542
(3) 16544 (4) 15544
39. Teret umr ok 240 feTeT T U 8% WATE ¥ | AT TR UTT & 160 ferev g o 15%
TS & | af 21 ursil ok g1 Rt firerr feam e <t 3@ frstor o opet 7ot foram
gfcera ani ?
(1) 10.5 (2) 10.6
(3) 10.7 (4) 10.8
40. 16x* - 81 T UEE 1 § | FE-91 @ ?2 (A sfew vty gihw)
(1) (4x+9) (4x-9) (2) (4x* +9) (4x*-9)
(3) (4x*+9) 2x +3) 2x - 3) (4) (2x+3)? (2x - 3)
Space for Rough Work
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37.

38.

39.

40.

Find the measure of the anlge between the hour hand and minute hand of a clock at 15
minutes past 2.

0 1°
(1) 30 2) 222

1° 1°
(3) 825- (4) 525-

The length of a rectangular garden is 452 m and breadth is 322m. There is a 11m broad
road around this garden. Find the area of the road. in sq.m.

(1) 4972 (2) 3542

(3) 16544 (4) 15544

If 240 litre milk containing 8% fat is mixed with 160 litre milk containing 15% fat.
What will be the percentage of fat in the mixture.

(1) 10.5 (2) 10.6

(3) 10.7 (4) 10.8

Which of the following are the factors of 16x* — 81. [Select the correct alternatives]
(1) Ax+9)(4x-9) (2) (4x>+9) (4x*—-9)

(3) (4x2+9) (2x +3) 2x - 3) (4) (2x + 3% (2x - 3)

Space for Rough Work
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41.

42.

43.

i 32m2 = 6561 AT m AT AT FATST |

(1) 2 (2) 3

(3) 4 4) 5

ferdit ot o faerut <t famg 2542 AT &, O ST ot Rt Ahet fehamT & 2
(1) 6253 T (2) 525 WA,

(3) 825 o WL (4) 725 I T,

44 Y URTAE ATt ¥ AT QIAthET, 44 WU IR ST I o Q%A | fehaam
I B ?

(1) 33 7 |, (2) 32 1 F.
(3) 30 o 9. (4) 23 o 9.
44. Teohe o Toa o 20 Ufaera it gfg T W ST faght 10 Tfavta w0 @ 8 v e
3T | Temea=l AiavTd ol dfeg o1 ST g8 ?
(1) 8% hHl 2) 8% 9SG
(3) 7% HHT (4) 7% G
45, 4Ifg xf‘ = 4"9_2 v x T | FaTey |
(15 2) -3
(3) 3 4) 9
Space for Rough Work
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41.

42.

43.

44.

Find the value of m if 32™2 = 561
(1) 2 (2) 3
3) 4 4) 5

The diagonal of a square is 2542 cm. Find the area of the square.
(1) 625 cm? (2) 525 cm?

(3) 825 cn? (4) 725 cm?

How much less is the area of a square whose perimeter is 44 cm. than the area of a
circle whose circumference is 44 cm.

(1) 33 cn?? (2) 32 cm?

(3) 30 cm? (4) 23 cm?

Due to 20% increase in the price of a ticket, the sale was decreased by 10%. Find by
how much percentage the income was increased or decreased ?

(1) 8% decrease (2) 8% increase
(3) 7% decrease (4) 7% increase
x+3 4x-2
45. If = . Then find ‘x°.
4 9
(1) 5 (2) -3
(3)3 49
Space for Rough Work
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46.

47.

48.

49.

50.

59 0 (I ) 3 3l oAt Toha T & I W&IRT ek 11 § faafsra g areft =
3Rl ohl TG hT ANTHE TehaT T 2

(1) 16060 (2) 21210

(3) 56760 (4) 27720

feret o o Ueh UTET o1 ST 1.4 HieX | € S0 99 ol Ueh 90 © TE 918
ek ST o feTa ufg o6 20000 TR B9 € 1 A 9 RT 9 At 718 0 SaTsT | (=R
ECGRDIDECIEIN)

(1) 88 ferrt (2) 44 ferrt
(3) 88000 HeX (4) 44000 T

Terdlt oie SRR ST oh TSR ATET UTHT o Sehl SRl ST 14 HieT eI SHeh
4TS 10 HET B af 39 anl | foha™l e U= ST ST 2

(1) 154000 (2) 1540000

(3) 2540000 (4) 3540000

1 .
122 GILAE. <l T H 15000 &. o1 fehet o6 o Fo T & ST ?

(1) 695 (2) 799

(3) 8 4) 1299

4> + 9 + 25¢* — 12ab — 30bc + 20ac T MUTIEE FAfARET § & SHF-A1E ?
(1) 2Qa+3b+5¢c)(2a+3b+ 5¢c) (2) (2a—-3b+5¢) (2a—3b + 5¢)

(3) (2a +3b—5¢) 2a + 3b - 5¢) (4) (2a—3b—5¢) (2a—3b - 5¢)

Space for Rough Work
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46.

47.

48.

49.

50.

Find the sum of all four digit numbers formed by using the digits 0, and 5, repeating
any number of times in the number.

(1) 16060 (2) 21210
(3) 56760 (4) 27720

A bus has wheels of diameter 1.4m. Travelling from one town to other, the wheels com-
plete 20,000 rotations. Find the distance covered by the bus. [Select two correct alter-
natives|

(1) 88km (2) 44km
(3) 88000 m (4) 44000 m

How much water will a cylindrical tank contain if its height is 10 m and diameter is
14m.

(1) 154000 litres (2) 1540000 Ilitres

(3) 2540000 litres (4) 3540000 litres.

1
In how many years will Rs. 15000 will be doubled at the rate of 125 p.c.p.a.?

(1) 6 years (2) 7 years
(3) 8years (4) 12 years
Which of the following are the factors of the polynomial.

4% + 9b* + 25¢% — 12ab — 30bc + 20ac

(1) 2a+3b+5¢c)(2a+3b+5c) (2) 2a—3b+5¢c)(2a—-3b+ 5¢)
(3) (2a +3b-5¢) 2a +3b - 5¢) (4) (2a—3b—5c¢) (2a —3b - 5¢)
Space for Rough Work
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51.

52.

53.

54.

SS.

2 TRIATAT I AT Rl WAL, 14 AT IHT .91, 490 T AT 3T HEATSN
T TR fehd T BT 2

(1) 140 (2) 147
(3) 168 (4) 182

Teh AUl o faeruil @ oieng 24 9t @ 32 At ¥ A 3@ gHegdS &
gffafa Jra & |

(1) 40 Tt 2) 80 Tt

(3) 100 HH (4) 120 Tt

foRdlt =T & STTehRaTH ToR hl TIaTE 60 THT TS 18 UHT q9T HdTE 15
A & 1 30 T | 6 AU WTame! feha™ TR Sl 9 1T Hehd § ?

(1) 55 (2) 60

(3) 65 4) 75

fereRTa Weh TSt 6540 . TAT TET TS 3460 . W RIS | AfE ST A ot
10,900 &. B o & A 30 R W W fohras ufavra ey an aif g8 ?

(1) 8 Ffcerd oy (2) 8 Ffcerd &1
(3) 9 Ffasra =i (4) 9 Ffaqra ey
TUHHA A |

(4a> + 6ab + 9b%) (2a — 3b)

(1) 8a* + 273 (2) 274 — 8b3
(3) 27a* — 81 (4) 84 —27b°
Space for Rough Work
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51.

52.

53.

54.

H.C.F of two digit two numbers is 14 and L.C.M. is 490. Find the sum of those two
numbers.

(1) 140 (2) 147
(3) 168 (4) 182

The diagonals of a rhombus are 24 cm and 32 cm. Find the perimeter of the rhombus.
(1) 40 cm (2) 80 cm

(3) 100 cm (4) 120 cm

A cuboid box has length 60 cm breadth 18 cm and height 15 cm. How many cabical
boxes having each side 6 cm. will be contained in the box.

(1) 55 (2) 60
(3) 65 4) 75

Vikas purchased a watch for Rs. 6540 and another one for Rs. 3460. Both the watches
were sold for Rs. 10,900. What was the profit percent or loss percent in this
transaction?

(1) 8% profit (2) 8% loss
(3) 9% loss (4) 9% profit
55. Multiply.
(4’ + 6ab + 9b*) (2a — 3b)
(1) 8a° +27b° (2) 274° - 8b°
(3) 274> - 8p° (4) 84 —27b°
Space for Rough Work
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56. 324389 = TemamT ?
(1) 19 (2) 29
(3) 39 (4) 27
57. SIS o HAE © 26 STHERT 2016 ¥ 21 HTE 2016 deh Wared ¢ ¢itel g
TIRT | S8 T W 47 6. Ul SieT o, O Siarsq, IITHATE o Shel 381 <Rl fehat €U
o1 faret Tre et e ?
(1) 2632°%. (2) 3948 %.
(3) 3878 %. (4) 3949 %.
58. <0 TS SRl W ST ShIUT oAt U 3T Sqemt vaity Frefefea o & gfm |
(1) mZACB (2) mZADB
(3) m<CEB (4) mZ/BFA
59. ESRTe Wt ¥ e hl HUQ W D W 112 wferwra Rate iy wlverom
ferarm | Tt foardt UTgeR 1 65000 . AT T ol A1 W feRam fare faerm 2
(1) 6564 % (2) 7475%
(3) 8485% (4) 6465%
60. 25x* + 49y Thl YUT a7t ST ok forg FAfeiaga o o fond ug =t sad sie
g ? (& 3fud u=ig giH)
(1) 35xy (2) =70 xy
(3) 70 xy (4) =35 xy
Space for Rough Work
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56.

57.

58.

59.

60.

3/24389 = How much

(1) 19 (2) 29

(3) 39 (4) 27

Shamrao purchased one and half litres milk everyday from 26th January 2016 to 21st

March, 2016 from Ramrao. The rate of milk was Rs. 47 per litre. Find the amount of
the bill that shamrao paid to Ramrao for the milk.

(1) Rs. 2632 (2) Rs. 3948
(3) Rs. 3878 (4) Rs. 3949

Observe the given figure and find the odd term.

(1) m ZACB (2) m ZADB

(3) m ZCEB (4) m ZBFA

Khadi Gramodyog mandal declared rebate of on sale of cloth. A customer pur-
chased cloth worth Rs. 65000. Find the amount of rebate that the customer
will received.

(1) Rs. 6564 (2) Rs. 7475
(3) Rs. 8485 (4) Rs. 6465

Which term shoud be added to 25x? + 49y so that the sum will be a perfect square.
(Choose two correct alternatives)

(1) 35xy (2) —70 xy
3) 70 xy (4) 35 xy

Space for Rough Work
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61.

62.

63.

64.

TIA R :

65 . 104 56

77 7 99 45
(1) 1 ) 0

OF ) =

fertit STefgTeRT &R @At URTATT 180 HieT &1 A S§ ST ST &ItheT fehe=T BT 2
(1) 3850 & M. (2) 3350 o HI.

(3) 2250 & HI. (4) 1925 &7 HI.

60 T e, 40 HieT TS 79T 5 Wi et Mg | Fanett fadt it 1 o, v 3R
24 WY 91 T TR Fora e & o ageh W fidh o ol ot |t 9amet | (S
3fea vt gf+w)

(1) 50 TH (2) 59t
(3) 0.5 4) 1.5

TS | 3250 &. Ulafoea o < | 13 forea g @ 4350 . ufa frea
T W 23 e Tranfam fordt st o 9= | 39 SHaER § AR A 368 W
3 AFT9Ta TRt TN A THTE o et fehaw wua foey 2

(1) 138031 &. (2) 138033 &.
(3) 138181 ®&. (4) 138432 &,
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Simplify

65 104 _ 56

77 99 45

(D 1 (2) 0
2 o 2
3) 3 @) -

The perimeter of a semi-circular garden is 180 m. Find the area of the garden
(1) 3850 sq.m. (2) 3350 sq.m.
(3) 2250 sq.m. (4) 1925 sq.m.

A pit 60m long, 40 m wide and 5 m. deep was dug and the soil was spread evenly over a
road of length 1 km. and breadth 24 m. What was the thickness of the soil spread ?

(1) 50 cm (2) 5cm
(3) 0.5m (4) 1.5m

Ramrao sold 13 quintals wheat at Rs. 3250 per quintal and 23 quintals soyabean at
Rs.4350 per quintal through a commission agent 3% commission was paid. Find the
amount that Ramrao will receive:

(1) Rs. 1,38,031 (2) Rs.1,38,033
(3) Rs. 1,38,181 (4) Rs. 1,38,432
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2017 x 2017 — 2015 x 2015
= 72 (% 3fua watg g

4032
(1) /2017 x 2015 (2) 2
(3) 2017 x 2015 4) 4

66. xocy (x AUT y W U fa=muT T 1)
ST x =35 W Al y = 14, 7 TG | ¥ fa=mor o sfaa THieRor sh-|r g ?
(1) 2x =5y (2) 2y =5x
(3) 2x+57=0 (4) 2y—5x=0
67. Tohel AHERIUT RISt W THRIUT SAHETET STSTI3T aht TATE 5 WHT. AT 12 W
ot 37 Pt o uftg ot firewn s |
(1) 6.59H ) 758
(3) 8.59H 4) 558
68. ToRTT U ST WUUT YRHET 384 AT WHT &1 A1 IHeAT TTheT feha =T BTN 7
(1) 512 S99 (2) 343 S.UH
(3) 0.512 .4t (4) 0.343 9.4t
69. (4x2—9x+7)+ (2 + 5x— 1) - (52— 4x + 5) = Tewamw 2 (I sfea vartar gfim)
(D 1 (2) X*+3x-2
(3) 2% —2x+5 (4) 2°
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65.

66.

2017 %2017 -2015x%2015

Solve: 4032 = How much ? (Select two correct alternatives)
(1) V2017 x 2015 (2) 2
(3) 2017 x 2015 4) /4

x o« y (x varies directrly with y ) If x = 35, and y = 14, then find which of the following
is the equation of variation ?

(1) 2x=15y (2) 2y=>5x

(3) 2x+5y=0 (4) 2y —5x=0

67. The sides forming the right angle of a right angled triangle are 5 cm. and 12 cm. Find
the radius of the circumcircle of the triangle.
(1) 6.5cm (2) 7.5 cm
(3) 85cm (4) 5.5cm
68. Total surface area of a cube is 384cm?. Find the volume of that cube.
(1) 512 cu.cm (2) 343 cu.cm
(3) 0.512 cu.m (4) 0.343 cu.m.
69. Ux?-9x+7)+(x*+5x-1)-(5x*—4x + 5) = How much ? (Select two correct
alternatives.)
(1) 1 2) x¥*+3x-2
(3) 2x*-2x+5 (4) 2°
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70. Teret whamm ok 41 Taenfomil ot 3 @t 2| 13.5 98 & | afs et o g o

71.

72.

HYTETUh i MY T Feam S A et i W ¢ WaA ot gfeg & STie |
HYTLATIR ht Y TATZT |

(1) 4399 6 HIE (2) 3499 6 U

(3) 3599 6 HIE (4) 36 79H 6 HIE

ferelt TwaTg FegsT ot ST 12 Wl & O 3 FIsT o vitseid &t S48 fehat
Bt ? (2 Sftuw wata gf)

(1) 4+/3 T4 2) Jag ST
(3) 63 THt (4) Jlog o

T 2Mmehfa o TSt PQRS Uk WHee aque &, @ 9= PQ || o<1 SR.
JThfd W YT 7T WUT o SFTER 9 AqHST Al FTHA AT Y |

P HTH ——

SN

Il — N\
S s5fp e 5247 —————>

[ (PQ) = 47 |

[ (SP) = 13 |t

[ (MR) = 52 |t

[ (SM) =5t

(1) 624 (2) 524 M
(3) 624 T (4) 52497 Tt
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70.

71.

72.

In a class the average age of 41 students was 13.5 years. If the age of the class-teacher is
added to the total ages of the students, then the average age increases by 6 months. Find
the age of the class teacher.

(1) 43 years 6 months (2) 34 years 6 months
(3) 35 years 6 months (4) 36 years 6 months

Find the perpendicular height of an equilateral triangle whose side is 12 cm.

(1) 43 cm. (2) /48 cm.
(3) 6+/3 cm. (4) 108 cm.

In the above trapezium PQRS side PQ 11 side SR. The measurements of the sides are
given in the figure. observe the figure and find the area of the trapezium.

P HTH ——
:
al AN
S s DY R
1(PQ) =47 m.
I(SP) =13 m.
[(MR) =52 m.
1(SM) =5 m.
(1) 624 m? (2) 524 m?
(3) 6.24 m? (4) 524 m?
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T. 73 © 75 o o0 GoAT : THIE@ A 96 2011 © T 2015 Teh o SAR TS g ok TS
T G WA Fefefen e g g9 € | Shet FRigT w5
el U T WAl ok feTg, SR ot Sferd Ui g |

b il TR 1
4 Y I 1T = 10 e

[ vwrR s
T I

- :
,.,: d J]y,
iz
i ? i
R =
ko
ke b= Z % 7
& % Z Z 7
| |
5 M //
, 7 | 7
Al || D
. | BE BE 8
= il 7o 2_..__ a;oh; 20j% 7015 ?ag

73. TAR ST SAHA TS ToherT gotm ? . .
(1) 72 Toes (2) 75 foaea 3) 77 T (4) 79 foaea
74. TorT o8 SO UE N Rl SATE Waifaeh Ud U §el § ?

(1) 2012 (2) 2013 (3) 2014 (4) 2015
75. 8 2012 W T T ST TR & IS A fehe formea a8 2
(1) 10 (2) 15 (3) 20 (4) 25
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Q.73 to 75 Directions

The quantity of Jowar and Wheat produced by Ramrao from the year 2011 to 2015 is
shown below in the joint bar graph. Observe it and select the correct alternative to
answer the questions given below.

Tm; = : Proi)ertion- -._
~ Y-Axis 1 cm = 10 Quintal
D Production of Jowar
% Production of Wheat
N
& o
%
= BEE
= a3 / //
= & - Z =
E B0y % é
s = Z 2 X-Axis
——— 2011 2012 20/% 2014
< Y ear
73. Whatis the average production of Jowar ?
(1) 72 quintal (2) 75 quintal (3) 77 quintal (4) 79 quintal
74. In which year was the yield of Jowar and wheat was equal and the highest ?
(1) 2012 (2) 2013 (3) 2014 (4) 2015
75. In the year 2012, how much less was the yield of wheat than jowar in quintals ?
(1) 10 (2) 15 (3) 20 (4) 25
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